Soall

owladl yogal

D oSolauy (2—3(2—3)‘1)1 (9
((@szall &5V ,S50)
;1 ] l ’ -5 ] 5
5 5

4

>
3

x> 3a€ X ¢ by ol (10
B=(3x-7) A=(2x+3)

D=(x+5)2x*-5) C= (X—ij(x+2j

3

(siué> >ac X ) ol (11

D E = (. tdy
(€3 S 12X + .
€ veeeens —§:(2X+ ..... { ....... —Sj
3
......... Xt = ()

C=(x*—4)+(x—2)5x+3)
D =3(x—5) —2(x* - 25)

weub guxo 5aen (13
(N &=9;5 com> Judl ) sl

A=(=D"+ (=)™
B=3'(-1)"~(-2’(-)"

: s aclol Jlghl edio ABC (14
BC=q=2""+2"+2""
AC=b=2""4+2""42" 4
AB=c="/147x2"" 4
2 o S| seub puxo dac N >
a’=b>+c* ol yw
ABC wilindl aguln) auuid guisaws 15k

ol (1
PGS} S (L C ) S C) I X

020

) _ ;_iji (3
s-(oay) A=G)(5)

A=(-3)" x(-3)" x(-3)™

_ 5y (2s)°

5'x(25)"

wm,pugi@gub.mbga (5
w90l pwl Jlosiwl ooww
(2a2><b3?

_ _ ab
’ (?aab4)Z !

3,2
ab
-1
C- a’b’ +{a2b4J
(ab)3 a3b5

oo € Ulss>ulbbacbga (6
U~>9-0J| uuu\” Jlowi .;L; |g..._,

2 2 3 2

ola” | b (ab’ a a

Az(ab)( >t 2) B= 3 z{ 2t 3}
a ab |b b

b
Jsoo wde asusll baely sl b sl (7
dole alis

A=23%x10"+528x10"
B =(5327x102)+20




euxall a2l OIS logo @il w (15
kK>1 Cusw K el

711 x5 +539 1ol
.1078 >a=l) wcliao

C__45><1()‘2

12 10°

oaodeio jut Ulsas> ulsacygx (8

X+y 1

Xy Xy

— 4, Xy ,

x+y#0

D Sl (X_1+y_1)l
(azsall 45V ,530)

r XTY
X+y




B

Soall J syl o il Jol >
(9 (-5)=-125 « (=2)°=-32 . 2°=8 (1
(2—3(2—3)—1)1= [2—3(—1)—1}1 0°=0 . (-1)2=1 . 1®=1
=[2—3(_11ﬂ B = [2x(-5)f A=(-2fx(=3) (2
e s
=[2+3]" - -
=5
1 _
- €= 2]
o anall 4yl o) ey
— 64

=(3x-7f A =(2x+3) (10
(3x) —2x3xx7+7* =(2x) +2x2xx3+3?
=9x’ —42x+49 =4x*+12x+9

D=(2x*+5)2x*-5) C= (’“ij{“g

2

- (2X2)2 _s? o (3}2

D:[2><(—3)2]>< [4><(—5)2]2
= (2x (=3])x (4><(—5)2T
(2x9)x (4x25)

=18x100’
=180000




4
=4x*-25 =x'——
X X 9

x? +8x+16=(x+4)*
(3x—2) =9x*—12x +4

25 5 5
T = 2x 4+ | 2x— =
SR ( 3)( 3)

2+x+1—(x+1j2
X 4 2

(11

A=42>-49 (12
=(2af -7

=(2a+7)2a-7)

C=(x—4)+(x—2)(5x+3)
x—2)(x+2)+(x—2)(5x+3)
X —2)[(x + 2)+ (SX + 3)]

x —2)(6x +5)

T

D = 3(x—5) - 2(x> - 25)
=3(x—5)x-5)-2(x-5)x+5)
=(x-5)3(x~35)-2(x +5)]
=(x-5)3x-15-2x-10)

=(x—5)x—25)
(53,9 N+l ol gy nolsls] (I(13
. o9
A=(-1)+ (1)
=1+(-1)
=0

B =3 (1) (-2 (1)
-5 1= (2 ()
=9+4
=13
rdw g s>y NHL o Ly,snoulS bl —o

B=

1exa2 )
SE:

=24><(—3) =§X;4
~16x3? 2 3
_ —8x3x3 -4
 _8x2x3x3 T2
I RS B
-2 2

A=(3)x(-3)" x(-3)"" (4
:(_3)5+7—11

Il Il
R4S R NV
&b I I
e N

()]
‘Hw~

—_
N
W

243 242
_a’b _abb _b (5

A = =
a3 bZ aZ abZ a

(2az><b3’)3 ~2’a’p’ ga'b

Gapdf ~ Fa'p® 9




+ -1
A=(—lr+(—1)" ! c_ a’b’ . a2b4 _ a’h’ ;azbs
:_61“ (ab) | a3p3 (ab)  a’b’
_ a’b’ y a’b’ _ a’b’a’b’ _ a‘b’ _ 1
B= 32 (_l)n _ (_2)2 (_1)n+1 a3b3 a3b5 a3b3 a3 bs a6b8 azb
=3'x(=1)-(-2) (1)
=9-4
=-13 2 2
iy A =0 ol WS (s aa>Mo Az(ab){;z+l’2J (6
B a
oaibilaio _ s.ofa*+p?
=ab b’
Juosill Jlasiwl b g @ Vel Jows (14 .
a=2n—1+2n+2n+1 =a +b
=" (1+2+2?) B:M{aﬁz}
=2"1(7) a’b’ [b* b’
— 7X2n—1 3 aZb6 a+a2b
b — 211—2 + 2n—1 + 2n a3 b2 b4
=2"2(1+2+27) _a’p’(a+a’d)
-22(1) T awn
=7x2"? B azb(’a(l + ab)
a’= (7><2“_1)z a’b’
= 72 X (211—1)2 — M
= 492" a b’
% =1+ab
b’ = (7><2“—2)2
:7zx(2n_2)z A=23%x10>+528%10" (7
_ 4oyt =230+0,528
- ) = 230,528
¢’ = [«/147x2“_2) =2,30528x 10’
~ 1472 B =(53,27x10)+ 20
b’ +e’ =492 +147x2" ¢ o g s
o =0,026635
:1 2 n- _
4262 o = 2,6635x10"
= Xa4X
= 49%x2*x ™" -
= 49x2™" C= g : : 8_3
28 ABC culioll 1 03] p+c*=a> W 45
A (s gyl = Exm‘“
(15 = fxlol
+1 3k+l =3k _ 3k 3k 3k
A5+ 539 =77 0 Ix1 1.5+ T x11x 7T =3,75x10




= 7x1x (7% 11%.5% +7)
_ 77(7X73k—1.1 1% 5% 4 7)
— 77 x 7(73k—1_1 1% 5% 4 1)
= 539(73"‘1.1 5%+ 1)
ela> ) 5,9 sac 731 1k g3k Ui ala>Moug
w>95 3ac 7RI 5% 41 0l (a8 slacl
Z) 71 5% 4539 = 539(2K) sl
(K'e
=1078k'
1078 sael) waclao 7751175 + 539 w3

(x_l+y_1)1 = C“F;j_l (8

Xy
X+y

[y+x !
)
[ x+y -
)
__Xy
X4y

WD Axall WSVl vl






